

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

Bonus Spin Xtreme Power Up for Flush Games is a fixed-amount progressive side wager that can be configured for the following table games: Top Flush, High Card Flush, Chase the Flush, and I Luv Suits. The wager may be optional or mandatory. The amount of the wager may be configured as either \$1, \$2, or \$5. The wager will be placed alongside the main wager before any cards are dealt. The game is then dealt and played as normal. The wager is resolved when the qualifying trigger event occurs.

### Trigger Event

If a player is dealt a Flush consisting of 5 or more cards when the Bonus Spin Xtreme Power Up wager is placed, then they will be awarded a spin of the base prize wheel, as detailed below.

### Prize Wheels

Bonus Spin Xtreme Power Up uses a single device consisting of an inner prize wheel and an outer prize wheel. Both prize wheels follow a configured weighted distribution of prizes. A player that achieves the trigger event will receive a spin of the inner wheel, which is the Base Prize Wheel. If the player achieves a result of "POWER UP" on their base spin, they will be awarded a spin of the outer wheel, which is the Power Up Prize Wheel. The result of each spin will be indicated using a graphical pointer shown on a video display connected to the Bonus Spin Xtreme Power Up for Flush Games device.

The pays for the Base Prize Wheel, for each possible configuration, are given in the following tables.

**Paytable – Base Prize Wheel, \$1 Wager, 1 in 6.67 Power Up Trigger Odds**

Reward
\$40.00
\$35.00
\$30.00
\$25.00
Power Up
\$15.00
\$12.00
\$10.00

**Paytable – Base Prize Wheel, \$1 Wager, 1 in 20 Power Up Trigger Odds**

Reward
\$40.00
\$35.00
\$30.00
\$25.00
Power Up
\$15.00
\$12.00
\$10.00

**Paytable – Base Prize Wheel, \$2 Wager, 1 in 6.67 Power Up Trigger Odds**

Reward
\$75.00
\$70.00

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

\$60.00
\$50.00
Power Up
\$30.00
\$25.00
\$20.00

### Paytable – Base Prize Wheel, \$2 Wager, 1 in 20 Power Up Trigger Odds

<b>Reward</b>
\$100.00
\$75.00
\$50.00
\$40.00
Power Up
\$30.00
\$25.00
\$20.00

### Paytable – Base Prize Wheel, \$5 Wager, 1 in 6.67 Power Up Trigger Odds

<b>Reward</b>
\$200.00
\$175.00
\$150.00
\$100.00
Power Up
\$75.00
\$60.00
\$50.00

### Paytable – Base Prize Wheel, \$5 Wager, 1 in 20 Power Up Trigger Odds

<b>Reward</b>
\$250.00
\$200.00
\$150.00
\$100.00
Power Up
\$75.00
\$60.00
\$50.00

The pays for the Power Up Prize Wheel, for each possible configuration, are given in the following tables.

### Pays – Power Up Prize Wheel, \$1 Wager, 1 in 6.67 Power Up Trigger Odds

<b>Reward</b>
Primary Jackpot
Secondary Jackpot
\$250.00
\$150.00

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

\$125.00
\$100.00
\$80.00
\$75.00
\$60.00
\$50.00

### Pays – Power Up Prize Wheel, \$1 Wager, 1 in 20 Power Up Trigger Odds

Reward
Primary Jackpot
Secondary Jackpot
\$750.00
\$500.00
\$400.00
\$300.00
\$250.00
\$200.00
\$150.00
\$100.00

### Pays – Power Up Prize Wheel, \$2 Wager, 1 in 6.67 Power Up Trigger Odds

Reward
Primary Jackpot
Secondary Jackpot
\$5000.00
\$250.00
\$225.00
\$200.00
\$175.00
\$150.00
\$125.00
\$100.00

### Pays – Power Up Prize Wheel, \$2 Wager, 1 in 20 Power Up Trigger Odds

Reward
Primary Jackpot
Secondary Jackpot
\$2,000.00
\$1,000.00
\$750.00
\$600.00
\$500.00
\$400.00
\$300.00
\$200.00

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

### Pays – Power Up Prize Wheel, \$5 Wager, 1 in 6.67 Power Up Trigger Odds

Reward
Primary Jackpot
Secondary Jackpot
\$1,000.00
\$750.00
\$500.00
\$450.00
\$400.00
\$350.00
\$300.00
\$250.00

### Pays – Power Up Prize Wheel, \$5 Wager, 1 in 20 Power Up Trigger Odds

Reward
Primary Jackpot
Secondary Jackpot
\$2,500.00
\$2,000.00
\$1,750.00
\$1,500.00
\$1,250.00
\$1,000.00
\$750.00
\$500.00

### Dealer Envy

There is an optional Dealer Envy add-on. This add-on will award the dealer one dollar (\$1) for each player at the table that has placed a Bonus Spin Xtreme Power Up for Flush Games wager whenever the trigger event (when the player is dealt a flush with 5 or more cards) occurs. This Dealer Envy pay will be \$1 regardless of the wager amount.

### Fixed Jackpot Prize

There is also an optional Fixed Jackpot Prize add-on. When configured, all players who place the Bonus Spin Xtreme Power Up wager are eligible to win the Fixed Jackpot Prize, with no additional wagering necessary to qualify. After all wagers have been placed, the value of the Fixed Jackpot Prize is incremented based on the configured increment rate and the total value of all progressive wagers. After the new value of the progressive meter is calculated, if an eligible player achieves the configured triggering event, the entire Fixed Jackpot Prize is awarded. The triggering event is specified by the configuration name, as given in the following table. If multiple players at a table qualify for the Fixed Jackpot Prize at the same time, the operator may decide how to award the progressive pay amongst those players. The following table contains configurable setups for the Fixed Jackpot Prize for wagers of \$1, \$2, and \$5. The Fixed Jackpot Prize can be configured to use either a 2%, 3%, 4%, 5%, or 6% increment rate. The Fixed Jackpot Prize is metered separately from the Primary and Secondary progressive jackpots that are available from the base Bonus Spin Xtreme Power Up feature.

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

### Fixed Jackpot Prize Configurations

Configuration Name	Cards Dealt	Reset Value- \$1	Reset Value- \$2	Reset Value- \$5
7 Card Straight Flush	7	\$5,000	\$10,000	\$25,000
5 Card Royal Flush	7	\$2,500	\$5,000	\$10,000

### Fixed Jackpot Prize - "10% of Meter" Award

The operator may also optionally add a "10% of Meter" award to the game where 10% of the current Fixed Jackpot Prize meter will be awarded to a qualifying hand. The qualifying hand for each configuration is listed in the following table.

### 10% of Meter Award Hands

Configuration Name	Cards Dealt	10% of Meter Awarding Hand
7 Card Straight Flush	7	6 Card Straight Flush
5 Card Royal Flush	7	5 Card Straight Flush

### Progressive Configuration Details

A configured percentage of each wager increments the progressive meters for the primary and secondary progressives. Bonus Spin Xtreme Power Up may be set up with one of several possible progressive configurations, which governs both the primary and secondary progressives. These configurations determine the reseed values and increment rates. A complete listing of available progressive configurations for each wager level is given in the following tables.

### Progressive configurations Details - \$1 Wager

Config.	Primary Progressive Seed	Primary Progressive Increment	Secondary Progressive Seed	Secondary Progressive Increment
1	\$2,500	5%	\$1,000	2%
2	\$5,000	5%	\$1,000	2%
3	\$5,000	6%	\$2,500	2%
4	\$2,500	5%	\$1,000	2%
5	\$5,000	6%	\$1,000	3%
6	\$5,000	6%	\$2,500	3%
7	\$5,000	5%	\$2,500	2%
8	\$10,000	5%	\$2,500	2%
9	\$5,000	6%	\$1,000	2%
10	\$5,000	5%	\$2,500	2%
11	\$10,000	4%	\$2,500	3%
12	\$10,000	5%	\$5,000	2%
13	\$5,000	6%	\$1,000	2%
14	\$5,000	6%	\$2,500	3%
15	\$10,000	5%	\$2,500	3%
16	\$10,000	6%	\$5,000	2%
17	\$10,000	6%	\$5,000	3%
18	\$25,000	5%	\$5,000	2%
19	\$25,000	5%	\$10,000	2%

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

DO NOT COPY

# Bonus Spin Xtreme Power Up for Flush Games

## Rules of Play

### Progressive configurations Details - \$2 Wager

Config.	Primary Progressive Seed	Primary Progressive Increment	Secondary Progressive Seed	Secondary Progressive Increment
1	\$5,000	5%	\$1,000	2%
2	\$5,000	5%	\$2,000	3%
3	\$10,000	6%	\$2,500	2%
4	\$5,000	5%	\$1,000	2%
5	\$5,000	6%	\$2,000	3%
6	\$10,000	6%	\$2,500	3%
7	\$5,000	5%	\$2,000	2%
8	\$10,000	6%	\$2,500	3%
9	\$5,000	5%	\$1,000	2%
10	\$5,000	6%	\$2,500	3%
11	\$10,000	5%	\$2,500	3%
12	\$10,000	6%	\$5,000	3%
13	\$5,000	5%	\$1,000	2%
14	\$5,000	6%	\$2,500	3%
15	\$10,000	5%	\$2,500	3%
16	\$10,000	6%	\$5,000	2%
17	\$10,000	6%	\$5,000	3%
18	\$25,000	5%	\$5,000	3%
19	\$25,000	6%	\$10,000	2%

### Progressive configurations Details - \$5 Wager

Config.	Primary Progressive Seed	Primary Progressive Increment	Secondary Progressive Seed	Secondary Progressive Increment
1	\$5,000	4%	\$1,000	3%
2	\$5,000	6%	\$1,000	3%
3	\$5,000	4%	\$1,500	3%
4	\$10,000	5%	\$2,500	3%
5	\$10,000	6%	\$2,500	3%
6	\$10,000	4%	\$2,500	3%
7	\$10,000	6%	\$2,500	3%
8	\$10,000	5%	\$5,000	3%
9	\$25,000	5%	\$5,000	3%
10	\$10,000	4%	\$5,000	3%
11	\$10,000	6%	\$5,000	3%
12	\$25,000	4%	\$10,000	3%
13	\$10,000	4%	\$5,000	3%
14	\$10,000	6%	\$5,000	3%
15	\$10,000	7%	\$5,000	3%
16	\$25,000	5%	\$10,000	3%
17	\$10,000	4%	\$5,000	3%
18	\$10,000	5%	\$5,000	3%
19	\$10,000	6%	\$5,000	3%
20	\$10,000	8%	\$5,000	3%
21	\$25,000	6%	\$10,000	3%

## Bonus Spin Xtreme Power Up for Flush Games

### Rules of Play

22	\$25,000	8%	\$10,000	3%
23	\$50,000	6%	\$10,000	3%
24	\$50,000	8%	\$10,000	3%
25	\$100,000	4%	\$25,000	3%

Note: Progressive configurations 1, 3, 6, 10, 12, 13, 17, and 25 are not available for use in Nevada when Bonus Spin Xtreme Power Up for Flush Games is configured to a \$5 wager with 1-in-6.67 Power Up trigger odds.

DO NOT COPY